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USN

BMATS101

First Semester B.E./B.Tech. Degree Examination, Dec.2024/Jan.2025

Time: 3 hrs.

Mathematics - | for CSE Stream

Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.

2. VTU Formula Hand Book is permitted.
3. M : Marks , L: Bloom’s level , C: Course outcomes.

Module-1 M| L C
Q.1 | a. | Find the angle between the curves, r= and r = b . 6 | L2 | CO1
1+ cos6 1—cosf
b. | Find the pedal equations of the curve r™ =a™ cos(m0). 7 | L2 | CO1
¢. | Determine the radius of curvature of the curve 1’ sec(20) =a’. 7 | L2 | CO1
OR
Q.2 | a. | With usual notation prove that tan¢ = r?. 8 | L2 | CO1
r
b. | Show that tangents to the cardioid r =a(l+cos0) at the points 6 =§ and | 7 | L2 | CO1
0= 2?75 are respectively parallel and perpendicular to the initial line.
c. | Using modern mathematical - tool write a programme/code to plot| 5 | L3 | CO5
r =2/cos26)|.
Module — 2
Q.3 | a. | Expand +/1+sin2x as-Maclaurin’s series up tofourth degree terms: 6 | L2 | CO1
b. | If u=f(y-z,2z—-x,x—y), prove that @4—@4‘@:0. 7 | L2 | CO1
ox 0y Oz
5(’8)’,2) : = Cco1
c. | Compute J =——""~= for x =pcos¢, y=psin¢ andz=z 7 | L2
op.4.2)
OR
(ax+by) (311 (311 _
Q4 |a. |Ifu=e f(ax —by), prove that ba—+ag—23bu. 8 | L2 | CO1
X
b. | Prove that x2@+y2—+22@=0 for u=f| = 2°% 7 | L2 | CO1
0x oy 0z Xy Xz
c¢.-| Using modern mathematical tool write a programe/code to show that | 5 | L2 | CO5
u, +u, =0, given that u =e”(xcosy —ysiny).
Module — 3
Q.5 | a. | Solve {y(l + lj +cos y}dx +[x + logx — xsin yJdy =0 6 | L2 | CO2
X
b. | Show that the curve y’ =4a(x +a) is self-orthogonal. L3 | CO2
¢. | A 12-volts battery connected to a series circuit in which the inductance is L3 | CO2
% henry and resistance is 10 ohms. Find the current ‘i’ if the initial current
is zero.
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OR
dy 3.6
Q.6 Solve X&-i-y:X y. 6 | L2 | CO2
Find orthogonal trajectories of the family r" cosn0 =a”. 7 | L3 | CO2
Find the general solutions of the equations (px—y)(py+x)=a’P by| 7 | L2 | CO2
reducing into Clairaut’s form by taking u =x*, v=7y’.
Module — 4
Q.7 Find remainder when (349 x 74 x36) is divided by 3. 6 | L1|CO3
Solve linear Diophantine equations 13x +17y =5. 7 | L2 | CO3
Solve the system of linear congruence x =2(mod3), x=3(mod5) and | 7 | L2 | CO3
x =2(mod7), using remainder theorem.
OR
Q.8 Find the last digit in 7'*°. 6 | L2 | CO3
Solve 2x + 6y = 1(mod7) 7 | L2 | CO3
4x 4+ 3y =2(mod7)
Find the remainder when 7'*' is divisible by 13. 7 | L2 | CO3
Module — 5
Q.9 Solve the system of equation by using Gauss-Jordan method. 6 | L2 | CO4
X+y+z=9,2x+y-z=0, 2x+5y+7z=52.
For what wvalues A and p the system of equations, x+y+z=6,| 7 | L2 | CO4
Xx+2y+3z=10, x+2y+Az=p has (i) no solution - (ii) a unique
solution and (iii) Many solutions.
Using power method, find the largest eigen value and corresponding vector | 7 | L2 | CO4
of the matrix,
6 -2 2
A=l-2 3 -1
2 -1 3
OR
(91 92 93 94 95]
92 93 94 95 96
Q.10 Determine the rank of the matrix A={93 94 95 96 97|. 8 | L1 | co4
94 95 96 97 98
195 96 97 98 99|
Using the Gauss-Seidel iteration ..method, solve the equation| 7 | L2 | CO4
27x +6y—z=2385, 6x+15y+2z=72, x+y+54z=110. Carry out four
iterations.
Using modern mathematical tool, write a program/code to find the largest | 5 | L3 | CO5
1 13
eigen value of A=|1 5 _1|bypower method.
3 1.1

I
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USN BPHYS102/202
First / Second Semester B.E./B.Tech. Degree Examination,
Dec.2024/Jan.2025
Applied Physics for CSE Stream
Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
3. VTU Handbook is permitted.
Module -1 L C
Q.1 |a. | Obtain the expression for- energy density equation wusing FEinstein’s L2 | CO1
coefficients at thermal equilibrium condition.
b. | Discuss the types of optical fibers based on modes of Propagation and L2 | CO1
Refractive Index profile.
c. | Given the numerical aperture 0.30 and RI fcore 1.49. Calculate the critical L3 | CO1
angle for the core — cladding interface.
OR
Q.2 | a. | Illustrate the construction and working of semiconductor laser with a neat L2 | CO1
sketch with energy level diagram.
b. | Define Acceptance angle-and Numerical aperture and hence derive an L2 | CO1
expression for Numerical aperture in terms of Refractive Indices of core,
cladding and surrounding.
c. | In an optical fiber experiment the LASER light propagating through optical L3 | COS
fibre cable of 1.5m , made a spot diameter of 8mm on_the screen. The
distance between the end of the optical fibre cable and. the screen is
0.031m. Calculate angle of contact and N.A of given optical fibre.
Module — 2
Q.3 | a. | Derive an expression for dc Broglie wavelength by analogy and hence L2 | CO2
discuss the significance of de Broglie waves.
b. | Set — up Schrodinger time independent wave equation in one dimension. L2 | CO2
c. | Calculate the energy of the first three energy states for an electron in one L3 | CO2
dimensional potential well of width 0.1nm.
OR
Q.4 | a. | State and explain Heisenberg’s uncertainty principle and show that electron L2 | CO2
does not exist inside the nuclear using Heisenberg’s uncertainty principle.
b. | Explain Eigen values and Eigen functions and hence derive the Eigen L2 | CO2
function of a particle inside infinite potential well of width ‘a’ using the
method of Normalization.
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The kinetic energy of an electron is equal to the energy of a photon with a L3 | CO2
wave length of 560 nm. Calculate the de Broglie wave length of the
electron.
Module — 3
Q5 State the Pauli matrices and apply Pauli matrices on the states | 0> and | 1>. L2 | CO2
Discuss the CNOT gate and its operation on four different input states. L2 | CO2
a, B, L3 | CO2
Given |¥ > = and | o> = , Prove that <W¥ | ¢>=<¢ | ¥ >*.
Q, B,
OR
Q.6 Explain the representation of qubit using Block sphere. L2 | CO3
Describe the working of controlled — Z gate mentioning its matrix L3 | CO3
representation and truth table.
A linear operator ‘X’ operates suchthat X |0>=|1> and X |1 >=| 0>, L3 | CO3
Find the matrix representation of ‘X’.
Module — 4
Q.7 Enumerate the assumptions of Quantum free electron theory of metals and L2 | CO3
mention the failures and classical free electron theory.
Describe Meissner effect and hence classify superconductors into Soft and L2 | CO3
Hard super conductors using M — H graphs.
Calculate the probability of occupation of an energy level 0.2ev above L3 | CO3
Fermi level at temperature 27°C.
OR
Q.8 Define Fermi factor and discuss the variation of Fermi factor with L2 | CO3
temperature and energy.
Explain the phenomenon of superconductivity and discuss qualitatively the L2 | CO3
BCS theory of super conductivity for negligible resistance of metal at
temperature close to absolute zero.
A superconductivity Tin has a critical temperature of 3.7K at zero magnetic L3 | CO3
field and a critical field of 0.0306 Tesla at 0°K. Find the critical field at 2K.
Module — 5§
Q.9 Elucidate the importance of size and scale , weight and strength in L2 | CO4
animations.
Discuss the salient features of normal distribution using bell curves. L2 | CO4
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A slowing object in an animations has a first frame distance 0.5m and the L3 | CO4
first slow in frame 0.35m. Calculate the base distance and the number of
frames in sequence.
OR
Q.10 Describe Jumping and parts of Jump. L2 | CO4
Discuss modeling the probability for proton decay. L2 | CO4
In a diffraction grating experiment the laser light undergoes second order L3 | COS

diffraction for diffraction ~—angle 1.48°. The grating constant
d=5.05 x 10°m and the distance between the grating and sereen is 0.60m.
Find the wavelength of LASER light.

* ok ko w
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BPOPS103/203

First/Second Semester B.E./B.Tech. Degree Examination, Dec.2024/Jan.2025

Principles of Programming using C

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
Module -1 M| L C
Q.1 | a. | List and explain any 5 characteristics.of a computer. 10 | L2 | CO1
b. | Draw the block diagram of a computer, explain all of its blocks such as | 10 | L2 | CO1
input, output storage and CPU.
OR
Q.2 | a. | Explain the following programming paradigms. 10 | L2 | CO1
i) Procedural programming
ii) Object-oriented programming
b. | Explain the structure of a C program with an example. 10 | L2 | CO1
Module — 2
Q.3 | a. | Explain Arithmetic and Relational operators of C with an example. 10 | L2 | CO2
b. | Develop a complete C program to find the real roots of'a quadratic equation | 10 | L3 | CO2
by accepting the coefficients.
OR
Q.4 | a. | Explain logical and assignment operators of C with an example. 10 | L2 | CO2
b. | Write a C program to find the factorial of a given integer n. Explain the | 10 | L3 | CO2
computation process.
Module -3
Q.5 | a. | Write a C program to find the sum and average of n integers. 10 | L3 | CO3
b. | ‘Explain the concept of function declaration-and function definition with an | 10 | L2 | CO5
example.
OR
Q.6 | a. | Write a C program to add two mxn matrices. 10 | L3 | CO3
b. | Explain the following with an example. 10 | L2 | COS5
i) Passing the entire array
ii) Passing the individual elements of an ID array.
Module — 4
Q.7 | a. | Write a C program to find the length of a given string without using inbuilt | 10 | L2 | CO3
function.
b. | What is a pointer? Show the use of two pointer operators & and *. 10 | L2 | CO3
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OR
Q.8 Write a C program to compare two given string S1 and S2 without using | 10 | L3 | CO3
inbuilt function.
How do you declare and initialize a pointer in C? Show with an example. 10| L2 | CO3
Module — 5
Q.9 What is recursion? Give one example. 10 | L2 | CO5
Differentiate between arrays and structures in C. 10| L3 | CO4
OR
Q.10 Explain the process of opening and closing a file in C. 10 | L2 | COS5
Differentiate between structure and unions in C with example programs. 10 | L3 | CO4

k ok ok ok ok

2 of2




USN BESCK104D

First Semester B.E./B.Tech. Degree Examination, Dec.2024/Jan.2025

Introduction to Mechanical Engineering

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
Module - 1 M| L C
Q.1 | a. | Explain the role of Mechanical Engineering in Industries and society. 10 | L2 | CO1
b. | Explain briefly the emerging trends of Mechanical Engineering in | 10 | L2 | CO1
manufacturing and Energy sector.
OR
Q.2 | a. | With sketch, explain the working principal of Thermal Power Plant. 10 | L2 | CO1
b. | Explain the utilization of solar energy using Flat plate collector with a | 10 | L2 | CO1
schematic diagram.
Module —2
Q.3 | a. | With line diagram, explain the working principle of Lathe machine. 6 | L2 | CO2
b. | With neat sketches, illustrate -i) Boring operation and ii) Reaming | 8 | L3 | CO2
operation of drilling machine.
c. | Differentiate between Up milling and Down milling. 6 | L2 | CO2
OR
Q.4 | a. | With sketch, explain the basic components of CNC machine. 10| L2 | CO2
b. | State the advantages and applications of CNC machine. 5 | L1 | CO2
c. | Listand explain in brief the various steps involved in Additive | 5 | L1 | CO2
manufacturing.
Module —3
Q.5 | a. | Analyze the working of four stroke petrol engine with sketches. Plot the PV | 10 | L4 | CO3
diagram.
b. | List any five significant difference between petrol and diesel engine. 5 | L1 | CO3
c. | State the various applications of IC engines. 5 | L1 | CO3
OR
Q.6 | a. | Describe Electrical Vehicles (EVs). Explain the components and working | 10 | L2 | CO3
of Electrical vehicles.
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List the advantages and disadvantages of Electrical and Hybrid Electrical | 10 | L1 | CO3
Vehicles.
Module — 4

Q.7 State the classification of Metals. 5 | L1 | CO4
Discuss the compositions , properties and applications of Ferrous and Non | 10 | L2 | CO4
— Ferrous metals.
What are Shape Memory Alloys? Mention the applications of Shape | 5 | L2 | CO4
Memory alloys.

OR

Q.8 What is Welding? With sketch, explain the process of Arc welding. 10| L2 | CO4
With figures, explain the 3 — types of flames in Oxy — Acetylene gas | 6 | L1 | CO4
welding.
Discuss the application of brazing. 4 | L2 | CO4

Module — 5

Q.9 Define Automation. Explain 3 — types of automation with example. 10 | L2 | COS5
With sketches, explain Cartesian and Polar robotic configurations. 6 | L2 | COS
Differentiate between Open loop and Closed loop control system. 4 | L2 | CO5

OR

Q.10 Define Internet of Things (IoT). Briefly explain the characteristics of IoT. 10 | L2 | COS5

Explain physical design and protocols of IoT. 10| L2 | COS

L I
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BETCK1051

First Semester B.E./B.Tech. Degree Examination, Dec.2024/Jan.2025

Introduction to Cyber Security

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.
Module — 1 M| L C
Q.1 | a. | Define Cyber Crime. Discuss about cyberpunk and cyberterrorism. 8 | L2 | CO2
b. | List the various cybercrime against property and against organization. 6 | L2 | CO3
c. | What is Spam? Interpret the difficulties involved to control spamming. 6 | L3 | CO3
OR
Q.2 | a. | Who are cyber criminals? Discuss three groups of cyber criminals. 8 | L2 | CO1
b. | Discuss about cyber defamation in detail. 6 | L2 | CO2
c. | Explain-credit card frauds and pornographic offenses in detail. 6 | L2 | CO3
Module — 2
Q.3 | a. | What is Social Engineering? Discuss human based Social Engineering with | 8 | L3 | CO2
a suitable example.
b. | Explain the different phases involved in planning eyber crime. 6 | L2 | CO3
c. | Explain any six tips for safety and security while using computer in a| 6 | L2 | CO3
cybercafé.
OR
Q.4 | a. | Define Cyber Stalking. Discuss the difference between types of stalkers. 6 | L2 | CO2
b. | What is an attack vector? Describe various attack vectors in detail. 6 | L2 | CO3
c. | Define Botnet. With a neat diagram, explain how botnets create business. 8 | L2 | CO3
Module — 3
Q.5 | a. | What are software key loggers and Anti Key loggers? List the advantages | 6 | L1 | CO2
of using anti key loggers.
b. | What is Proxy Server? How does proxy server is operated? Explain it’s | 8 | L3 | CO4
significance.
c. | What is Malware? Discuss how Malwares are classified. 6 | L2 | CO3
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OR
Q.6 Discuss various types of viruses categorized based on attacks on various | 6 | L3 | CO2
elements of the system.
Differentiate between weak and strong password. 6 | L3 | CO3
Discuss 4 types of DOS attacks. 8 | L2 | CO3
Module =4
Q.7 Explain the different methods used by the Phisher to reveal personal | 10 | L2 | CO2
information on internet.
Discuss various types of phishing scams. 10 | L2 | CO3
OR
Q.8 How does phishers use various techniques to launch phishing attacks? 6 | L3 | CO2
Discuss any 5 different types of identity theft technique. 10 | L2 | CO3
Explain the myths and facts about identity theft. 4 | L2 | CO4
Module — 5
Q.9 Explain the guidelines to be followed during the digital evidence collection | 8 | L2 | CO2
phase.
Discuss how fake email is detected using forensics analysis. 6 | L3 | CO3
What is chain of custody? Explain with an example. 6 | L2 | CO3
OR
Q.10 With a neat diagram, explain digital forensics life cycle model. 8 | L2 | CO3
Describe the need for concept of computer forensics. 6 | L2 | CO3
Explain network forensics in detail. 6 | L2 | CO2

I
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USN BETCK105H

First Semester B.E./B.Tech. Degree Examination, Dec.2024/Jan.2025
Introduction to Internet of Things
Time: 3 hrs. Max. Marks: 100

Note: 1. Answer any FIVE full questions, choosing ONE full question from each module.
2. M : Marks , L: Bloom’s level , C: Course outcomes.

Module — 1 M| L C

Q.1 | a.| With a neat diagram, explain the network communication between two | 8 | L2 | CO1
hosts following the OSI model.

b. | Explain the IoT planes, various enablers of IoT, and the complex | 6 | L2 | CO1
interdependencies among them with a neat diagram.

c. | Briefly explain various network topologies with suitable diagrams. 6 | L2 | COl1
OR
Q.2 | a. | With a neat diagram, explain internet protocol suite. 8 | L2 | CO1
. | Explain various networking components of [oT. 6 | L2 | CO1
c. | What is [oT? Write the characteristics of [oT system. 6 | L2 | CO1
Module —2
Q.3 | a. | With a neat diagram, explain the functional blocks of a typical sensor node | 10 | L2 | CO2
in [oT.
b. | Outline basic differences between transducer, sensor and an actuator. 10 | L4 | CO2
OR
Q.4 | a. | With a neat diagram, explain working mechanism of actuator. 10 | L2 | CO2
b. | Compare mechanical, soft and shape memory based actuators. 10 | L4 | CO2
Module — 3

Q.5 | a. | With a neat diagram, explain two types of data formats and processing | 10 | L2 | CO3
importance in [oT.

b. | Explain IoT device selection considerations. 10| L2 | CO3

OR

Q.6 | a. | Discuss with a neat diagram, event detection using offsite remote and | 10 | L2 | CO3
collaborative processing topology.

b. | Explain different data offloading strategies with locations and decision | 10 | L2 | CO3
making:

Module — 4

Q.7 | a. | What is Service Level Agreement (SLA)? Explain its importance and | 10 | L2 | CO4
merits used while defining SLA.

b. | With neat diagram, explain cloud models and features of commercial cloud | 10 | L2 | CO4
Amazon Web Services (AWS).

OR

Q.8 | a. | What is virtualization? Explain its advantages from end-user and service | 10 | L2 | CO4
provider point of view.

b. | With a diagram, briefly explain the architecture of leaf Area Index system. | 10 | L2 | CO4

Module — 5
Q.9 |a.| With a neat diagram, explain categories of machine learning and its | 10 | L2 | CO5
advantages.
b. | With the help of a block diagram, explain the components of healthcare | 10 | L2 | CO5
IoT.
OR
Q.10 | a. | Discuss the advantages and risks associated with healthcare [oT. 10 | L2 | COS5

b. | Explain fog framework of intelligent public safety in vehicular environment | 10 | L2 | COS
FISVER with block diagram.
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x4

cmz_ * * h — * g % _ _; _ . Question Paper Version : C

First/Second Semester B.E./B.Tech/B.Design Degree Examination,
Dec.2024/Jan.2025

Communicative English

Time: 1 hr.] —Zux Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty n:nw:.o:ﬁ each question carries one mark.

~

Usc only Black ball T&i pen for writing / darkening the circles.
For each question, after selecting your answer, darken the appropriate circle

ol

corresponding to the same question ==“i_.a_, on the OMR sheet.
4. Darkening two circles for the same %nwaoz makes the answer invalid.
5. Damaging/overwriting, using .‘:ES:EG on the=OMR sheets are strictly

prohibited.

1. Which of the following sentence is correctly v::ﬁ:ﬁ.&e
a) | went to the store, and bought apples, bananas; and oranges /=
b) I went to the store and bought apples, bananas and oranges %
c) | went to the store;'and bought apples, bananas, and oranges
d) 1 went to the store and bought apples; bananas, and orangcs
Which article js :un._ before a consonant sound? ¢

a) A Y b) An » c) ;a

b

d) None of these

" pen ta write®, should the blank be filled with an article?
d) None of these

é N

3. In the sentence *I need
a) >.\ b), An’ 3 The

4. ‘Which ofthe following is a part of speech E.& to express strong emotions?
a) Adverd .. \b) Pronoun ) Interjection d) Conjunction

S. “Thecatis _rn Sc_n which v_dvcz:c: should fill in the blank?
d) With

a) At . b)In =~ ¢) On

6. Which of the following is a correct use of a preposition?
a) "I am in the home™. b) “She walked at the park™.

c) “He sat on the chair™. d) None of these

7. Which work contaips a prefix?
a) Happy b) Cooked ¢) Revisit d) Quickly

N\ Ver-C-1of5

9.

10.

11.

12.

13.

14.

18.

“¢) They are swimming in the pool.

BENGK106/206/22BD17

Which sentence uses correct capitalization? -
a) The chicf executive officer was interviewed for the :dmhﬁ:n

b) The Chief Executive Officer was interviewed for the_ magazine
¢) The chief cxecutive officer was interviewed for the Magazine
d) The chief Executive Officer was interv iewed for :.n Magazine.

What is the term for the consonant sound anzn& by a complete closure in the vocal

tract followed by a sudden release of air? ,  *
a) Fricative b) Approximant .. ¢) Plosive

Which of the following is a part of speech .E: describes a person, place , thing or idea?
a) Verb b) >&no:<o ¢) Noun .. ¢ d) Conjunction

). Nasal

»

Which of the following is a nc:dnn qucstion tag for the statcment : “It’s raining outside™
b) It’s raining outside, isn’t #?

a) It’s raining outside, does’ it? 2
d) It’s raining outside. won't it?

c) It’s raining outside, can it?
..4.,.. r»
In the sentence “She .5: wo to the market tomorrow,” which tense is used?
{ b) ,Past tensc

a) Present tense
{d) Present perfect tense

¢) Future tense*

Which of Eo, following sentence uses the present perfect tense correctly’
a) He is going to the gym tomorrow, ¢

b) She _Em finished her homework™:

¢) Theywill visit their grandparents Fuﬁ weekend
d) We were playing moc:um: wnﬁraﬁ

a) vasa tense
¢) Future tense ¢

In the sentence ..m_ﬁ is taller than him;."What part of %nnr: is dE:.J

a) Envov_:cn.}f b) 00:..::2_8 ¥ o) >&an=<,n ¥ d) Pronoun
What is the’s wcuﬂ_n_so form of :.o w&nn:«o mcoa....
b) w&n; c) Coomnmn d) Gooder

S 4

Which of the following mnsﬂ.nnon is wSBnB:S:« cormect?

a):He don’t like coffee., #_b) She hasn’t went to the store yet
“ @) We was going to the movies.

Which sentence demonstrate correct subject — verb agreement?
a) The tcam are . working hard to ,anﬁ. their deadlines

b) The .83 is working hard to meet its deadlines

¢) The team'am working hard to meet its deadlines

d) The team were ic}Sm bard to meet their deadlines

Which scntence uscs 3:62 punctuation?

a) Pleasc bring a pen paper and your textbook to the meeting
b) Please bring a pen, paper, and your textbook to the _?.n::r
¢) Please bringa pen, paper and your textbook to the meeting.
d) Please bring a pen, paper ; and your textbook to the mecting.

Ver-C-2o0f$




20.

21.

22

23.

24

25,

26.

27.

28.

29.

30.

3

3.

33.
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Which of the following is an example of the correct use of the mvoéogn.‘
a) The cars windshicld was cracked b) The car’s windshicld was cracked
c) The cars’ windshield was cracked d) The car windshield was cracked
What part of speech is used to join words, v__Bm..,u.w or clauses?
a) Preposition b) Conjunction : c) ,>m<o~v d) Pronoun
What is the term for the fear of heights?, ’ :
a) Acrophobia b) >mcb§:ocs "% ¢) Claustrophobia ~d) Hydrophobia
What is the term for a person who is ovmnvﬂ& with their own ﬂcin_...
a) Egoist b) Narcissist’ c) Altruist %%,  d) Introvert
Which of the following words 1§ a synonym for “cphemeral™?
a) Eternal S .-.Q:vo_.nQ <) Oobzu:o:m d) Enduring
Which sentence anBoE:.:ﬁ correct usage of the ﬁo_.w “affect™?
a) The weather will effect the crops b) The weather will affect the crops
¢) The weather will effect the crops & The weather will affect on the crops
What is the antonym ot the word ..nxn_c.v_.o...v
a) Beautiful b) Delicate ¢) Common, d) Refined
Which word is the odd one out in .—.n nc__cs::w mwo:—_u
a) Zealous b) mE_Em_E_n c) >353n d), Eager
SN . ,\.« x,f
What is the meaning 93_5 term “vernacular” T ¥ Ay

“b) m_msm or _:335_. F:Emn

a) Formal language
(% d) Technical language

c) Foreign language

What is the a:nvmmg, tag for the statement  “He didn’t eat lunch™?

a) He didn't eat lunch, did he? “ b) Hedidn't eat lunch, does he?

¢) He didn’t eat lunch, hasn't he? d) He didn't eat lunch, isn’t he?
What is the question tag for the statement : “He doesn’t speak French™

a) Hg doesn’t speak French, isn't he? b) -He doesn’t speak French, does he?
& He doesn’t speak Id:ﬁ_. hasn’t he? Amc He docsn’t speak French, can’t he?

o

“What is phonetics?

a) The study of vvoﬁ_; sounds and En:. uga_c_ow_nu_ production.
b) The study of written E:mcawor v

c) The study of syntax and rﬂ_ann:.

d) The study of semantics ’

Which of the following is L.wov. aspect of effective communication in a team setting?
a) Dominating conversations b) Ignoring team members opinions
) Active participation and collaboration  d) Avoiding conflict resolution

What is the Intgmational Phonetic Alphabet (IPA) used for?

a) Writing in different languages b) Transcribing speech sounds
¢) Encoding written texts d) Creating new words

) Ver-C-3of5

34.

3s.

36.

37.

38.

39.

40.

41.

42,

43,

44,

45.
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What is the primary difference between vowels and noi_g_u‘..

a) Vowels arc voiced, consonants arc voiceless
b) Vowels involve airflow without significant 835&5? while consonants involve

constriction.
c) Vowels are nasal sounds, consonants are oB_ !E:nm
d) Vowels are always at the beginning of words, consonants are always at the end.

Which of the following is a consonant? %, = ,
a) [i] b) [a] .av.i c) [p) d) [e]
How many Consonants sounds E.n :83 in English? S
a) s b) 10_* c) 24 ey A 14
Which of the following i isa voiced consonant? ’

o M d) [

a) [p]

\!,e

b) [ac] . ¢ [ai] d) [m]

What uwz 2. speech is used to vwci the rclationship cn.?nan a noun (or pronoun) and

other words in a sentence? E
a) Conjunction b) Verb

»»».

c) v.dﬁo,mu.on d) . Interjection

When individuals have, different frames of reference due to their E_E:o experience, it
N »

can create : Y Ry ’
a) Physical barriers, * (%4b) Cultural barriers
c) maaua_ngan A ﬁ& Perceptual barriers

& 3..«

Which of the following is NOT u g—n_. to effective communication?

a) Oc__c_.u_a_::.n:nom b) Active listening
<) _\.Svcﬂwn barriers by d) m:.o:c:u_ barriers

/.Cv z
In the context of o_.wm:ﬁn:onu_ 385::5».8:. i:n: of the following is an example of
2 Structural barrier? ¢ 12 4
3 C.:r:umn barriers among employees «- o) 3 Differences in communication styles
“c) Hierarchical o_.wmzﬁ.:_c_r: structure, ~ d) Lack of feedback from supervisors

Which of the ﬁo__cfism isNOTa u?.v in the process of active listening?
a) Interrupting the speaker frequently b) Providing feedback

c) Asking clarifying a:am_ﬁ_v_m ’ d) Paraphrasing

What is the significance o.. feedback in communication?

a) It ensures that the speaker talks more than the listener.

b) It provides an opportunity for clarification and improvement

¢) It is unnccessary.jn effective communication

d) It should c:_ww be given by superiors to subordinates.

Ver-C-4ofs
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49.
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nv’rﬁ ’
In the context of organizational communication, 2_5_ aoﬁ “inter” communication refer
to?
a) Communication between individuals within the same &r?—:_:ﬁ:
b) Communication between individuals from difTerent departments or teams
¢) Communication between employees and management
d) Communication between the o_‘muaw..:&a and its external stakcholders.
Which of the following is an example of intercommunication? ==
a) A tcam mecting discussing project updates
b) A manager providing feedback to an employee
<) Ancmployee preparing a _ﬂuo: for their supervisor

d) An individual writ 5«» memo to themselves for vn?o:.: reminders.
What is the primary -xndaf o-..::.u O.«:..B::.ru:c:.w

a) To facilitate collaboration between departments”

b) To disscminate information within a tcam or department

c) To negotiate with cxternal stakcholders™,

d) To manage no:Eoﬁ between man:;a:ww.

Which of :.n ao__of:m is an nxu_zv_n o.. a physical barricr to communication?
a) Language differences b) Cultural differences
<) Noise in the environment d) _.sn_n oa n:ﬁm:—_%

Psychological barricrs to nm_uadcinnao: may :.o_can : a9
a) Language barricrs .b)> Noisc pollution * d
c) Emotional bias or prejudice d)- Misinterpretation of messages
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INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questiohs', each question carries”ofie mark.

2. Use only Black ball point pen for writing / darkéning the circles.

3. For each questlon, after selecting your answcr, darken the appropriate circle
corresponding’ t!o the same question number on the OMR sheet.

4. Darkening two circles for the same questlon makes the answer invalid.

5. Damagmg/overwntmg, using ¢ “hlteners on the%}‘()MR sheets are strictly

& xa
N

prohlblted

Translate the following Kannada words as per the glven model lQ No 1 and 2]
Example : Kacheri - Kachenyalh ( Fay ¥

1. Mane ,

a) Manadalli < b) Maneyinda ) d) Mane
2. Angadi i LR i

a) Angadiyalli b) Angadlhattlra c) Angadlyage d) Angadiyolage
3. How would you write “This’i is my Book“ in Kannada”

a) Adu Nanna pustaka p L\ 3 b) idu nanna pustaka

c)" Idu Avaru pustaka ‘Y ) d) idu nannadu
4. How would you wnlc “what is this” in Kannada"

a) Idu elli ' b) Idu yange ) ¢) Iduyavudu d) Idu Avaradu
5. How would you'write Fruit in Kunnada

a) Hoowu b) Ele ) ¢) HaNNu d) BaNNa
6. How would you write ‘Why sir” in Kannada?

a) Elli sir b)Yaake Saar ¢) Hogi Saar d) Banni Saar
7. What is the meaning of “Student” in Kannada?

a) Huduga »7b) Vidyarthi ¢) Jana d) Shale

Ver-D -1 of§



10.
11.
12.
13.

14.

15.
16.
17.
18,

19.

20.

How would you write “don’t” in Kannada?

a) Bceku

b) Bcke

¢) Beda, ¢ Y.

How would you writc “Marriage” in Kannada?

a) Habba

b) M

aduve

c) Sabe

Write the English word for the followlng ; 3

Chikka
a) Big

PaaTa
a) Story

aNNa
a) Sister

Kctta
a) Good

Huduga.
a) Son *\

b) Huge .. ]

b) L

M

b) Ba

esson
other

d

b) Boy

¢) Small

/5
< £73

¢) Book

™
LY

c) Father

ey New

c) Daughter "

Match the following using the Table given below »;"‘li

Fruit <3
=i QY

Lag, 7
Tree #
a)=1i

Flower
a)=i

Doctor ¢ 7,

a)=i

Country
a)=i

,a)¢| Fruit i){ |-Vaidya
21:b)'| Tree ii) .|'Desha
c) [ Flower » ‘i) | Mara
d) | Doctor ¥ |iv) | Hannu
e) | Country ¥« ® [ v) | Hoovu=\"%"
L g
2 b d/:t?
e e "'if ?‘ = o \Vy
o 28y
b) =i Co =i
' b) =iii c) =iv
b) =ii * ¢) =iii
b) =ii c) =iv

BKBKK107/207

d) Yaake

d) Prarthane

A

4

d) House
d) Drink
d) Brother
d) Big

d) Sister

d)=iv
d) = iv
dy=v
dy=v

d)y=v

Translate the follm'»ving English sentence into Kannada sentence :

Who are they?

a) Neeny ydaru

50

b) Avaru yaaru
Ver-D-2o0f$

¢) Neenu yelli

d) Avaru Enu



21.

22,

23.

24,

25,

26.

27.

28.

29.

30. Child
4=3a) navu {b) Avaru
¥ {.';r“_";_"'
31. Plant o’
a)Mara ‘1,  b)Gida WY
32. Story n v
a) Kate b) Angadi
33. Where
a) Enu 4 b)Eke
34, Bad ___
a) hosa _ ¢ b) Naataka

What is her Name?
a) Avalu yaru
¢) Avala hesarenu

This is my Nation
a) Idu Avara desha
¢) Adu Ninna desha

What is your name?
a) Avala Hesaru Enu?
¢) Ninna Hesaru Enu?

This is my pen.
a) Idu nanna pustaka
c) Idu Avara Lekhani

Fill in the blank for tﬁe given English words into Kannada meaning :

L »
Small Y
a) Udda h) b) agala
Salty. "f., Y Xy
a) huLi™ b) Uppu w7
Simple o, ‘
a) Khatina b) Tappu
Daily L
a) Nale ~,- b) Nenne
Dignity » )
a) Samasye; b) Ghanathe

A

b) Avana h‘é\_sarc"nu
d) Ninna hesarenu

) b) ldu Nanna desha
£./d)'1du Ninna dcsha

BKBKK107/207

b) Avana Hesaru Enu? (
d) Nanna Hesara Enu?

b) Idu Avara vastu

&y

P :\,*‘f

' ¢) Dappa

&

P

B

/?:\A\{a ‘c) Magu

"%
¢) Hoova
¢) Mane

¢) yaaru

¢) Ketta

Ver-D-=3o0f5

d) Chikka

d) Sihi

;_d)hlzhasagi

d) Dina Nitya

d) Olleya

Write 'the.:‘Kannada Vocgbiqléir:y for the follow{ﬁg English words :

d) vidyarthi

d) Rembe

d) Kavana

d) Elli

d) Olleya



35.
36.

37.

38.
39,

40.

a1.
42.
3.
44

45.

46.

Translate the following Kannada words into Eng!ish :

Maga O3

a) Father b) Sister c)};Daughter
Mane . Gl ®

a) Templc b) Housc f ¢) Church
Kempu BaNNa - . .
a) Black colour b) Red colour ¢) White colqgr |
Translate the following Enéii;h words into Kannada f Y
We ~ N

a) Naavu b). Namma c) Nglnage

This { LV .

a) Adu . b) Alli .c) Idu

He : P )

a) Avanu b) Avalu o c) Naanu %

Match the following using Tabl’t‘:’given below : = I+ 4

BKBKK107/207

d) Son

d) Hospital

d) Green colour

d) Nimage

d) Both (a) and (b)

d) Neenu

a) -] White )  [Hudugi
b)~| Girl ii)_ | Sihi

&

c) | Daughter | iii).) | Granthalaya
<71 d) | Sweet i Bili

Pe.

% [ €) | Library Magaluz.;m};;‘*}"v

h Ny # ¥
W ite ,g;;; & o, 4,%:5
a) =i &% b) =ii% "~ ALY _
Sl iy o o =i
)= i b= D ~ii 8 =v
'Déughter i
a) =i , b) =1 c) =iv d) =v
Sweet 7‘;’;; :
a) =i b) =i ¢) =iii d) =iv
Library Y
o= D= ¢) =iil &) =iv
Write appropriﬁtd'words for the following :
Mother _ « /
Zl) ”Udu\ga; b) “UdUgi c) Tuyi d) Tande

Ver-D -4 of 5
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ﬁx‘,);»
(‘ét}
47. Festival j%
a) Maduve b) Habba c) Man63 d) Raste
L]
. Oy *
48. Bitter £ J
a) Sihi b) Khara c) Uppu d) Kahi
]
49. Holiday ‘37»3' C\e:gf
a) Mara b) Raje én *"¢) Nagu “%d) Ooru
&y y
50. Town 4 »
a) Halli b) Angaﬁ?ﬁ@ c¢) Nagara ‘Qg@ d) Rajya
e
'P}' $

<
$

o Ver-D-50f$5
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USN

First/Second Semester B.E./B.Tech/B.Design Degree Examination,
Dec.2024/Jan.2025

Innovation and Design Thinking

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.

1.  Design thinking is a process of
a) Thinking about design
b) Designing ways in which people think
c) Asking users to solve problems
d) Defining framing and solving problems from user’s prospective.

2.  Design thinking typically helps in
a) Innovation b) Data analytics
c) Financial planning d) Operation efficiency

3. Design thinking principle DO NOT include
a) Feasibility b) Viability c) Desirability d) Credibility

4. Design thinker in an organization are
a) People b) Employees c) Managers d) All of these

5.  What are the steps of Design thinking process?
a) Understand > Draw > Ideate > Create > Test
b) Empathize > Define > Ideate > Prototype > Test
c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Ver— A—-1of5



10.

11.

12.

13.

14.

15.

16.

17.

BIDTK158/258/22BD16

Design thinking is a linear process

a) True b) False c) Cannot say d) None of these
Which of these is a reason that companies might Implement design thinking?

a) It relies on risk - taking b) It creates more problem

c) It accelerates effectiveness d) It eliminates mistakes

Tools of Design thinking are
a) Visualization b) Experience mapping
c) Rapid concept development d) All of these

Collaboration in design thinking for strategic innovation includes.

a) Collaboration with all the members of the organization for shared solution for
complex problem.

b) Collaboration with design thinking team

c) Collaboration with design thinking consultant

d) Collaboration with operation team.

What does MVP stand for

a) Most viable product b) Maximum viable product
¢) Minimum viable product d) None of these

Journey Mapping is a

a) Geographic research b) Ethnographic research

c) Both (a) & (b) d) None of these

Which of the following are NOT tools of Design thinking?

a) Co - creation b) Prototyping

¢) Online Marketing d) Mind Mapping

is a way of collaboration where in participants , regardless of their location ,
work together to reach a certain goal.

a) Distributed work b) Distributed collaboration

c) Multiple perspective d) All of these

A Rapid concept Development can be used before the progress of

a). 25% b) 50% c) 30% d) 35%

Mind Maps are used to ideas.

a) Generate b) Visualize c) Organize d) All of'these

Brain storming session is

a) There is no rule, it is UP to the brainstorming facilitator to decide
b) A mix of individual and collective activities

c) A collective activity only

d) An individual activity only

Preparing and representing project information in the form of stories , maps and images
is
a) Journey mapping b) Visualization
c) Value chain analysis d) Prototyping
Ver— A—-2of5
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19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.
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What is way to narrow down the thoughts to reach at the final solution?

a) Convergent thinking b) Divergent thinking

c) Linear thinking d) All of these

To Empathize in design thinking means

a) To understand the user b) To have sympathy

c) To be socially responsible d) To understand the Technology

is used with the objective of identifying the needs of the customers which the
customers themselves are unable to articulate.
a) Mind mapping b) Experience mapping
c) Story telling d) Rapid concept development

The three “I”’s of design thinking DO NOT includes.
a) Interest b) Implementation c) Inspiration d) Ideation

What is the characteristic for the location of a virtual team?
a) In the same building b) Remotely
c) In the same industry d) In the same country

Design thinking follows

a) Waterfall Model b) Agile methodology

c) Both of these d) None of these

Collaborative team work is essential in design thinking for

a) Equal importance to all members b) - Solving multifaceted problems
c) Unbiased selection of ideas d)- Better failure management

BPM stands for

a) Building Product Management b) Business Product Management
c) Business Process Management d) Basic Product Management
is an iterative and incremental method of managing development and design.
a) Agile Methodology b) Waterfall Model
c) Cyclic Methodology d) All of these
Which of the following sequences is correct for Waterfall Methodology?

a) Define — Design — Develop — Test —Deploy
b) Define — Develop — Design — Test — Deploy
c) Define — Design— Develop — Deploy — Test
d) Design — Define — Develop — Test - Deploy

Representation of prototypes by

a) Story board b) Scenarios c) Screen shots d) All of these
Scope of Strategic Innovation includes
a) Managed Innovation b) Strategic Alignment

c¢) Industry Foresight d) All of these
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What is the term for the phenomenon that a new IT system is implemented across the
whole organization simultaneously?

a) Immersed approach b) Parallel approach

c) Plunge approach d) Instant approach

“Products are shaped by stories that people tell about them”. The phrase indicates the
importance of

a) Importance of product b) User experience

c¢) Importance of stories d) Importance of Narration

The reconfiguration of existing product technologies is known as
a) Modular Innovation b) Radical Innovation
c¢) Architectural Innovation d) Incremental Innovation

What is the goal of value chain analysis?

a) To create a better value for customer in the value chain
b) To visualize ideas and organize them

c¢) To develop new business opportunities

d) To test prototypes of proposed solutions

A model of a proposed solution looks as close as possible to the final design is
prototype

a) High fidelity b) Low fidelity c) No fidelity d) MVP
Which tool is used to represent how ideas are linked to main idea?

a) Visualization b) Journey mapping

¢) Mind mapping d) Rapid concept development

What is the core belief behind co-reaction?

a) The presence of users is essential to the creative process
b) Rapid development of new business ideas

c) Testing assumptions about a new business idea

d) Visualizing ideas and organizing them

What is the purpose of learning launches?

a) To test prototype of proposed solutions

b) To explore the fundamental assumptions of market potential for new growth
c) To analyze the value chain of an organization

d) To create avisual representation of a business idea

What is Business Process Modelling?

a) A way of visualization business strategies

b) A method for quality management

¢) A method for time and motion study

d) A way of dividing business processes into basic components and functions.

Frank Robinson defined and coined the term
a) Design thinking b) Mind mapping c) MVP d) Hypothesis
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Experience economy has resulted in
a) Active participation b) Passive consumption
¢) Minimum consumption d) None of these

Outsourcing of innovation globally is more likely where :

a) Innovations are autonomous b) Innovations are systematic
c¢) Innovations are systematic or autonomous

d) Innovations are made by service sector firms

Which of the below firm is associated the most with design thinking?
a) Ikea b) Ideo c) Idea d) Ikei

Design thickners create low fidelity prototypes to

a) Validate concepts for the market b) Build production ready products
c) Estimate the price of production

d) Test concepts quickly and cheaply with potential users

Extension of a successful brand or iteration a current period is
a) Revolutionary Innovation b) Dynamic Innovation

c¢) Incremental Innovation d) Evolutionary Innovation

Benefits of Agile in virtual collaboration are

a) Allow openers b) Rhythm building

c¢) Visualize the whole thing d) All of these

Which famous design school become most vital in framing design thinking as a core
subject

a) Trinity College b) Business School, Ahmadabad

c) Massachusetts University d) Standford d. school

The word design thinking is defined by
a) Tim Brown b) Rober Mckin c) Peter Rowes d) Balter Moore

David is testing his prototype, what should his next move be?
a) Ideate and come up with more idea

b) Research the people he is designing for

c) Collect feedback from the testers to evaluate his idea

d) Change his problem statement

What element of user experience design would be the design strategy full under?
a) Interaction design b) Experience strategy
c) User Research d) Information architecture

What purpose does point of view (POV) serve in design thinking?
a) It serves as the guide for developing the prototype

b) It illustrates what your competitors are doing better

c) It is used in the testing phase for receiving feedback

d) It provides focus for the design team is brain storming.

* %k sk ok ok
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INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly

prohibited.
1.  Outsourcing of innovation globally is more likely where :
a) Innovations are autonomous b) Innovations are systematic

c¢) Innovations are systematic or autonomous
d) Innovations are made by service sector.firms

2.  Which of the below firm is associated the most with design thinking?
a) Ikea b) Ideo c) Idea d) Ikei

3. Design thickners create low fidelity prototypes to
a)- Validate concepts for the market b) Build production ready products
c) Estimate the price of production
d) Test concepts quickly and cheaply with potential users

4. Extension of a successful brand or iteration a current period is
a) Revolutionary Innovation b) Dynamic Innovation
c¢) Incremental Innovation d) Evolutionary Innovation

5. Benefits of Agile in virtual collaboration are

a) Allow openers b) Rhythm building
c¢) Visualize the whole thing d) All of'these
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Which famous design school become most vital in framing design thinking as a core
subject

a) Trinity College b) Business School, Ahmadabad

c) Massachusetts University d) Standford d. school

The word design thinking is defined by
a) Tim Brown b) Rober Mckin c) Peter Rowes d) Balter Moore

David is testing his prototype, what should his next move be?
a) Ideate and come up with more idea

b) Research the people he is designing for

c) Collect feedback from the testers to evaluate his idea

d) Change his problem statement

What element of user experience design would be the design strategy full under?
a) Interaction design b) Experience strategy
c) User Research d) Information architecture

What purpose does point of view (POV) serve in design thinking?
a) It serves as the guide for developing the prototype

b) It illustrates what your competitors are doing better

c) It is used in the testing phase for receiving feedback

d) It provides focus for the design team is brain storming.

“Products are shaped by stories that people tell about them”. The phrase indicates the
importance of

a) Importance of product b) User experience

c¢) Importance of stories d) Importance of Narration

The reconfiguration of existing product technologies is known as
a) Modular Innovation b) Radical Innovation
c) Architectural Innovation d) Incremental Innovation

What is the goal of value chain analysis?

a) To create a better value for customer in the value chain
b) To visualize ideas and organize them

c¢) To develop new business opportunities

d) To test prototypes of proposed solutions

A model of a proposed solution looks as close as possible to the final design is
prototype

a) High fidelity b) Low fidelity c) No fidelity d) MVP
Which tool is used to represent how ideas are linked to main idea?

a) Visualization b) Journey mapping

¢) Mind mapping d) Rapid concept development

What is the core belief behind co-reaction?
a) The presence of users is essential to the creative process
b) Rapid development of new business ideas
c) Testing assumptions about a new business idea
d) Visualizing ideas and organizing them
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What is the purpose of learning launches?

a) To test prototype of proposed solutions

b) To explore the fundamental assumptions of market potential for new growth
c) To analyze the value chain of an organization

d) To create a visual representation of a business idea

What is Business Process Modelling?

a) A way of visualization business strategies

b) A method for quality management

¢) A method for time and motion study

d) A way of dividing business processes into basic components and functions.

Frank Robinson defined and coined the term

a) Design thinking b) Mind mapping c) MVP d) Hypothesis
Experience economy has resulted in

a) Active participation b) Passive consumption

¢) Minimum consumption d) None of these

Journey Mapping is a

a) Geographic research b) Ethnographic research

c) Both(a) & (b) d) None of these

Which of the following are NOT tools of Design thinking?

a) Co - creation b) Prototyping

¢) Online Marketing d) ~Mind Mapping

is a way of collaboration where in participants , regardless of their location ,
work together to reach a certain goal.

a) Distributed work b) Distributed collaboration

c) Multiple perspective d) All of these

A Rapid concept Development can be used before the progress of

a) 25% b) 50% c) 30% d) 35%

Mind Maps are used to ideas.

a)- Generate b) Visualize ¢) Organize d) All of'these

Brain storming session is

a) There is no rule, it is UP to the brainstorming facilitator to decide
b) A mix of individual and collective activities

c) A collective activity only

d) An individual activity only

Preparing and representing project information in the form of stories , maps and images
is

a) Journey mapping b) Visualization

c) Value chain analysis d) Prototyping

What is way to narrow down the thoughts to reach at the final solution?
a) Convergent thinking b) Divergent thinking

c) Linear thinking d) All of these
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To Empathize in design thinking means
a) To understand the user b) To have sympathy
c) To be socially responsible d) To understand the Technology

is used with the objective of identifying the needs of the customers which the
customers themselves are unable to articulate.
a) Mind mapping b) Experience mapping
c) Story telling d) Rapid concept development

Design thinking is a process of

a) Thinking about design

b) Designing ways in which people think

c) Asking users to solve problems

d) Defining framing and solving problems from user’s prospective.

Design thinking typically helps in
a) Innovation b) Data analytics
c) Financial planning d) Operation efficiency

Design thinking principle DO NOT include
a) Feasibility b) Viability ¢) Desirability d) Credibility

Design thinker in an organization are
a) People b) Employees c) Managers d) All of these

What are the steps of Design thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Design thinking is a linear process

a) True b) False c) Cannot say d) None of these
Which of these is a reason that companies might Implement design thinking?

a) It relies on risk - taking b) It creates more problem

c) It accelerates effectiveness d) It eliminates mistakes

Tools of Design thinking are
a) Visualization b) Experience mapping
c) Rapid concept development d) All of these

Collaboration in design thinking for strategic innovation includes.

a) Collaboration with all the members of the organization for shared solution for
complex problem.

b) Collaboration with design thinking team

c) Collaboration with design thinking consultant

d) Collaboration with operation team.

What does MVP stand for
a) Most viable product b) Maximum viable product

¢) Minimum viable product d) None of these
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The three “I”’s of design thinking DO NOT includes.
a) Interest b) Implementation c) Inspiration d) Ideation

What is the characteristic for the location of a virtual team?
a) In the same building b) Remotely
c) In the same industry d) In the same country

Design thinking follows

a) Waterfall Model b) Agile methodology

c) Both of these d) None of these

Collaborative team work is essential in design thinking for

a) Equal importance to all members b) Solving multifaceted problems
c) Unbiased selection of ideas d) Better failure management

BPM stands for

a) Building Product Management b) Business Product Management
c) Business Process Management d) Basic Product Management
is an iterative and incremental method of managing development and design.
a) Agile Methodology b) Waterfall Model
c) Cyclic Methodology d) All of these
Which of the following sequences is correct for Waterfall Methodology?

a) Define — Design — Develop — Test — Deploy
b) Define — Develop — Design— Test — Deploy
c) Define — Design — Develop — Deploy — Test
d) Design — Define — Develop — Test - Deploy

Representation of prototypes by

a) Story board b) Scenarios c) Screen shots d) All of these
Scope of Strategic Innovation includes

a) Managed Innovation b) Strategic Alignment

c¢) Industry Foresight d) All of'these

What is the term for the phenomenon that a new IT system is implemented across the
whole organization simultaneously?

a) Immersed approach b) Parallel approach

¢) Plunge approach d) Instant approach

%k ok ok ok ok
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1.  “Products are shaped by stories that people tell about them”. The phrase indicates the
importance of
a) Importance of product b) User experience
c¢) Importance of stories d) Importance of Narration

2.  The reconfiguration of existing product technologies is known as
a) Modular Innovation b) Radical Innovation
c¢) Architectural Innovation d) Incremental Innovation

3.  What is the goal of value chain analysis?
a) To create a better value for customer in the value chain
b) To visualize ideas and organize them
c¢) To develop new business opportunities
d) To test prototypes of proposed solutions

4. A model of a proposed solution looks as close as possible to the final design is

prototype

a) High fidelity b) Low fidelity c) No fidelity d) MVP
5.  Which tool is used to represent how ideas are linked to main idea?

a) Visualization b) Journey mapping

¢) Mind mapping d) Rapid concept development
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What is the core belief behind co-reaction?

a) The presence of users is essential to the creative process
b) Rapid development of new business ideas

c) Testing assumptions about a new business idea

d) Visualizing ideas and organizing them

What is the purpose of learning launches?

a) To test prototype of proposed solutions

b) To explore the fundamental assumptions of market potential for new growth
c) To analyze the value chain of an organization

d) To create a visual representation of a business idea

What is Business Process Modelling?

a) A way of visualization business strategies

b) A method for quality management

¢) A method for time and motion study

d) A way of dividing business processes into basic components and functions.

Frank Robinson defined and coined the term

a) Design thinking b) Mind mapping c) MVP d) Hypothesis
Experience economy has resulted in

a) Active participation b) Passive consumption

¢) Minimum consumption d) None of these

Design thinking is a process of

a) Thinking about design

b) Designing ways in which people think

c) Asking users to solve problems

d) Defining framing and solving problems from user’s prospective.

Design thinking typically helps in
a) Innovation b) Data analytics
c) Financial planning d) Operation efficiency

Design thinking principle DO NOT include
a) Feasibility b) Viability ¢) Desirability d) Credibility

Design thinker in an organization are
a) People b) Employees c) Managers d) All of these

What are the steps of Design thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Design thinking is a linear process
a) True b) False c) Cannot say d) None of these
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Which of these is a reason that companies might Implement design thinking?

a) It relies on risk - taking
c) It accelerates effectiveness

Tools of Design thinking are

a) Visualization

b) It creates more problem
d) It eliminates mistakes

b) Experience mapping
c) Rapid concept development d) All of these

Collaboration in design thinking for strategic innovation includes.
a) Collaboration with all the members of the organization for shared solution for

complex problem.

b) Collaboration with design thinking team
c) Collaboration with design thinking consultant
d) Collaboration with operation team.

What does MVP stand for

a) Most viable product

b) Maximum viable product
¢) Minimum viable product d) None of these

Outsourcing of innovation globally is more likely where :

a) Innovations are autonomous

c) Innovations are systematic or autonomous
d) Innovations are made by service sector firms

b) Innovations are systematic

Which of the below firm is associated the most with design thinking?

a) Ikea

b) Ideo c) Idea

Design thickners create low fidelity prototypes to

a) Validate concepts for the market b) Build production
c) Estimate the price of production

d) Test concepts quickly and cheaply with potential users

Extension of a successful brand or iteration a current period is

a) Revolutionary Innovation
¢) Incremental Innovation

Benefits of Agile in virtual collaboration are

a) Allow openers

b) Rhythm building

c¢) Visualize the whole thing d) All of'these

Which famous design school become most vital in framing design thinking as a core

subject
a) Trinity College

c) Massachusetts University

b) Business School,

The word design thinking is defined by

a) Tim Brown

b) Rober Mckin c) Peter Rowes
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David is testing his prototype, what should his next move be?
a) Ideate and come up with more idea

b) Research the people he is designing for

c) Collect feedback from the testers to evaluate his idea

d) Change his problem statement

What element of user experience design would be the design strategy full under?
a) Interaction design b) Experience strategy
c) User Research d) Information architecture

What purpose does point of view (POV) serve in design thinking?
a) It serves as the guide for developing the prototype

b) It illustrates what your competitors are doing better

c) It is used in the testing phase for receiving feedback

d) It provides focus for the design team is brain storming.

The three “I”’s of design thinking DO NOT includes.
a) Interest b) Implementation ¢) Inspiration d) Ideation

What is the characteristic for the location of a virtual team?
a) In the same building b) Remotely
c) In the same industry d) In the same country

Design thinking follows

a) Waterfall Model b) Agile methodology

c) Both of these d) ‘None of these

Collaborative team work is essential in design thinking for

a) Equal importance to all members b) Solving multifaceted problems
c) Unbiased selection of ideas d) Better failure management

BPM stands for

a) Building Product Management b) Business Product Management
c) Business Process Management d) Basic Product Management
is an iterative and incremental method of managing development and design.
a). Agile Methodology b) Waterfall Model
¢) Cyclic Methodology d) All of these
Which of the following sequences is correct for Waterfall Methodology?

a) Define — Design — Develop — Test — Deploy
b) Define — Develop — Design — Test — Deploy
c) Define — Design — Develop— Deploy — Test
d) Design — Define — Develop — Test - Deploy

Representation of prototypes by

a) Story board b) Scenarios c¢) Screen shots d) All of these
Scope of Strategic Innovation includes

a) Managed Innovation b) Strategic Alignment

c¢) Industry Foresight d) All of these
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What is the term for the phenomenon that a new IT system is implemented across the
whole organization simultaneously?

a) Immersed approach b) Parallel approach

c¢) Plunge approach d) Instant approach
Journey Mapping is a

a) Geographic research b) Ethnographic research
c) Both (a) & (b) d) None of these

Which of the following are NOT tools of Design thinking?

a) Co - creation b) Prototyping

¢) Online Marketing d) Mind Mapping

is a way of collaboration where in participants , regardless of their location ,
work together to reach a certain goal.

a) Distributed work b) Distributed collaboration

c) Multiple perspective d) All of these

A Rapid concept Development can be used before the progress of

a) 25% b) 50% c) 30% d) 35%

Mind Maps are used to ideas.

a) Generate b) Visualize c) Organize d) All of'these

Brain storming session is

a) There is no rule, it is UP to the brainstorming facilitator to decide
b) A mix of individual and collective activities

c) A collective activity only

d) An individual activity only

Preparing and representing project information in the form of stories , maps and images
is

a) Journey mapping b) Visualization

c) Value chain analysis d) Prototyping

What'is way to narrow down the thoughts to reach at the final solution?

a) Convergent thinking b) Divergent thinking

c¢) Linear thinking d) All of these

To Empathize in design thinking means

a) To understand the user b) To have sympathy

c) To be socially responsible d) To understand the Technology

is used with the objective of identifying the needs of the customers which the
customers themselves are unable to articulate.

a) Mind mapping b) Experience mapping
c) Story telling d) Rapid concept development
* sk ok sk ok

Ver—-C —-50f5






BIDTK158/258/22BD16

Question Paper Version : D

USN

First/Second Semester B.E./B.Tech/B.Design Degree Examination,
Dec.2024/Jan.2025

Innovation and Design Thinking

Time: 1 hr.] [Max. Marks: 50

INSTRUCTIONS TO THE CANDIDATES

1. Answer all the fifty questions, each question carries one mark.

2. Use only Black ball point pen for writing / darkening the circles.

3.  For each question, after selecting your answer, darken the appropriate circle
corresponding to the same question number on the OMR sheet.

4. Darkening two circles for the same question makes the answer invalid.

5. Damaging/overwriting, using whiteners on the OMR sheets are strictly
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1.  The three “I”’s of design thinking DO NOT includes.
a) Interest b) Implementation ) Inspiration d) Ideation

2.  What is the characteristic for the location of a virtual team?
a) In the same building b) Remotely
c¢) In the same industry d) In the same country

3. Design thinking follows

a) Waterfall Model b) Agile methodology
c) Both of these d) None of these
4. . Collaborative team work is essential in design thinking for
a) Equal importance to all members b) Solving multifaceted problems
c) Unbiased selection of ideas d) Better failure management

5. BPM stands for

a) Building Product Management b) Business Product Management
c) Business Process Management d) Basic Product Management
6. is an iterative and incremental method of managing development and design.
a) Agile Methodology b) Waterfall Model
c) Cyclic Methodology d) All of these
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Which of the following sequences is correct for Waterfall Methodology?
a) Define — Design — Develop — Test — Deploy
b) Define — Develop — Design — Test — Deploy
c) Define — Design — Develop — Deploy — Test
d) Design — Define — Develop — Test - Deploy

Representation of prototypes by

a) Story board b) Scenarios c¢) Sereen shots

Scope of Strategic Innovation includes

a) Managed Innovation
c¢) Industry Foresight

What is the term for the phenomenon that a new IT system is implemented across the

d) All of these

b) Strategic Alignment

d) All of'these

whole organization simultaneously?

a) Immersed approach
c) Plunge approach

b) Parallel approach
d) Instant approach

Outsourcing of innovation globally is more likely where :
b) Innovations are systematic

a) Innovations are autonomous

c¢) Innovations are systematic or autonomous
d) Innovations are made by service sector firms

Which of the below firm is associated the most with design thinking?

a) Ikea b) Ideo

c) Idea

Design thickners create low fidelity prototypes to

a) Validate concepts for the market b) Build production
c) Estimate the price of production

d) Test concepts quickly and cheaply with potential users

Extension of a successful brand or iteration a current period is
b) Dynamic Innovation
d) Evelutionary Innovation

a) Revolutionary Innovation
c¢) Incremental Innovation

Benefits of Agile in virtual collaboration are

a) Allow openers
c) Visualize the wholething

Which famous design school become most vital in framing design thinking as a core

subject
a) Trinity College
c) Massachusetts University

b) Rhythm building
d) All ofthese

b) Business School,

d) Tkei

ready products

Ahmadabad

d) Standford d. school

The word design thinking is defined by
a) Tim Brown b) Rober Mckin c) Peter Rowes

David is testing his prototype, what should his next move be?

a) Ideate and come up with more

idea

b) Research the people he is designing for
c) Collect feedback from the testers to evaluate his idea

d) Change his problem statement
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What element of user experience design would be the design strategy full under?
a) Interaction design b) Experience strategy
c) User Research d) Information architecture

What purpose does point of view (POV) serve in-design thinking?
a) It serves as the guide for developing the prototype

b) It illustrates what your competitors are doing better

c) It is used in the testing phase for receiving feedback

d) It provides focus for the design team is brain storming.

“Products are shaped by stories that people tell about them”. The phrase indicates the
importance of

a) Importance of product b) User experience

c¢) Importance of stories d) Importance of Narration

The reconfiguration of existing product technologies is known as
a) Modular Innovation b) Radical Innovation
c) Architectural Innovation d) Incremental Innovation

What is the goal of value chain analysis?

a) To create a better value for customer in the value chain
b) To visualize ideas and organize them

c¢) To develop new business opportunities

d) To test prototypes of proposed solutions

A model of a proposed solution looks as close as possible to the final design is
prototype

a) High fidelity b) Low fidelity c) No fidelity d) MVP
Which tool is used to represent how ideas are linked to main idea?

a) Visualization b) Journey mapping

¢) Mind mapping d) Rapid concept development

What is the core belief behind co-reaction?

a) The presence of users is-essential to the creative process
b) Rapid development of new business ideas

c¢). Testing assumptions about a new business idea

d) Visualizing ideas and organizing them

What is the purpose of learning launches?

a) To test prototype of proposed solutions

b) To explore the fundamental assumptions of market potential for new growth
c) To analyze the value chain of an organization

d) To create a visual representation of a business idea

What is Business Process Modelling?

a) A way of visualization business strategies

b) A method for quality management

¢) A method for time and motion study

d) A way of dividing business processes into basic components and functions.
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Frank Robinson defined and coined the term

a) Design thinking b) Mind mapping c) MVP d) Hypothesis
Experience economy has resulted in

a) Active participation b) Passive consumption
¢) Minimum consumption d) None of these
Journey Mapping is a

a) Geographic research b) Ethnographic research
c) Both (a) & (b) d) None of these

Which of the following are NOT tools of Design thinking?

a) Co - creation b) Prototyping

¢) Online Marketing d) Mind Mapping

is a way of collaboration where in participants , regardless of their location ,
work together to reach a certain goal.

a) Distributed work b) Distributed collaboration

c) Multiple perspective d) All of these

A Rapid concept Development can be used before the progress of

a) 25% b) 50% c) 30% d) 35%

Mind Maps are used to ideas.

a) Generate b) Visualize c) Organize d) All ofthese

Brain storming session is

a) There is no rule, it is UP to the brainstorming facilitator to decide
b) A mix of individual and collective activities

c) A collective activity only

d) An individual activity only

Preparing and representing project information in the form of stories , maps and images
is

a) Journey mapping b) Visualization

c) Value chain analysis d) Prototyping

What is way to narrow down the thoughts to reach at the final solution?

a) Convergent thinking b) Divergent thinking

c) Linear thinking d) All of these

To Empathize in design thinking means

a) To understand the user b) To have sympathy

c) To be socially responsible d) To understand the Technology

is used with the objective of identifying the needs of the customers which the
customers themselves are unable to articulate.
a) Mind mapping b) Experience mapping
c) Story telling d) Rapid concept development
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Design thinking is a process of

a) Thinking about design

b) Designing ways in which people think

c) Asking users to solve problems

d) Defining framing and solving problems from user’s prospective.

Design thinking typically helps in
a) Innovation b) Data analytics
c) Financial planning d) Operation efficiency

Design thinking principle DO NOT include
a) Feasibility b) Viability c) Desirability d) Credibility

Design thinker in an organization are
a) People b) Employees c) Managers d) All of these

What are the steps of Design thinking process?

a) Understand > Draw > Ideate > Create > Test

b) Empathize > Define > Ideate > Prototype > Test

c) Empathize > Design > Implement > Produce > Test
d) Understand > Define > Ideate > Produce > Try

Design thinking is a linear process

a) True b) False c) Cannot say d) None of these
Which of these is a reason that companies might Implement design thinking?

a) It relies on risk - taking b). It creates more problem

c) It accelerates effectiveness d) It eliminates mistakes

Tools of Design thinking are
a) Visualization b) Experience mapping
c) Rapid concept development d) All of these

Collaboration in design thinking for strategic innovation includes.

a) Collaboration with all the members of the organization for shared solution for
complex problem.

b). Collaboration with design thinking team

¢)- Collaboration with design thinking consultant

d) Collaboration with operation team.

What does MVP stand for

a) Most viable product b) Maximum viable product
¢) Minimum viable product d) None of these
* sk ok sk ok
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